LOosungen zu Definitionsmenge:

Ubungen: a x—/5-x=+/x

by log, (x*+1)=2+log,(x)
X+8 5

- =5+—
X—4 X®—x-12

g |21 e 025
5_3x 3

c 1

ZU a X—/5-x =+/x = 5-x>0Ax>0
= 5>2xAXx2>0
—  ID=[0;5]
zu by log, (x* +1) =2+log, (x) =  X*+1>0AXx>0
& XP>-1Ax>0
& x>0
= ID =]0;00[= IR"
ZU c) 1—X+8=5+ - > =  X—-4#0Ax*—x-12%0
X—4 X*—x-12
& X#AA(X=4)(x+3) =0
& X#4AX#=-3
—  ID=IR\{-34}
zu d>\/g=% x?—0,25 = gigizosz—o,zszo

o (2x=120A5-3x>0)v (2Xx—1<0A5-3x<0)) A X2 >0,25

= ((XZO,SAg>x)v(x£0,5Ag<x))/\|x|20,5

= O,5£x<§/\(x£—0,5vx20,5)

15 15
= ID=[=:Z[ oder ID=[=;=
53l 59
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